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250,000 +6} 1,500
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SH: SAD
N sEEs NEAY
Chel: SE=T| XRAY (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
[Ea 475,200
301 22N = 660,000 615,420 44,580
=S 184,800
= 475,200
14 0Bt 2as 660,000 615,420 44,580
O Ol&s0oiel #=HeH X
200,000 *3,300E *100% 660,000
< 184,800
s 475,200
s HEHS SR (<HI) 10,368 10,368 0
= 2,072
Ea 8,2%
301 LetEN= 10,368 10,368 0
=S 2,072
s 8,296
04 Zet=2stis 10,368 10,368 0
O s0gel MHEstis A& At
1,728,000& x6H 10,368
== 2,072
= 8,296
stE<0l XI&(<Hl) 28,724 27,347 1,377
= 3,419
Ea 25,306
301 LeEN= 28,724 21,347 1,377
= 3,419
i 25,305
14 0Bt 2a3 28,724 27,347 1,377
O SIHE20] A
58,6203 *70L+7H 28,724
[ 3,419
T 25,305
SZE SS0l0IssdE 29 N (=) 12,500 27,400 14,900
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O € s0& MEJI2 523
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skl XAAL (O12) 175,847 175,847 0
| 123,093
= 52,754
101 @124H| 161,779 161,779 0
Il 113,245
[ia 48,534
0 JItHI2E2 S 161,779 161,779 0
O SXIOISAEIEA QI2iH]
161,779,000& 161,779
J| 113,245
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201 LBt 14,068 14,068 0
| 9,848
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14,068,0002 14,068
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SH: SAD
M SolEHAEA
&Rl SHESXIXE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
soEgsasd 401,400 501,400 100,000
= 145,000
= 32,000
= 224,400
sHESX XA 401,400 501,400 100,000
= 145,000
< 32,000
= 224,400
FHsoigel XA 101,400 101,400 0
201 er23| 8,700 8,700
01 At2t2ltl 4,700 4,700
O dit=ZH| 4,000,000 4,000
O AsEHHs 2F+E
700,000 700
02 s3=gHl 4,000 4,000 0
O AsHYZ S ASRIAL 2
4,000,000 4,000
202 04l 2,700 2,700
01 2LHoIH 2,700 2,700
O AsHEER oHl 2,700,000& 2,700
402 2IZtA=01d 90,000 90,000
01 RIEN AL E X (XM TR ) 90,000 90,000
O Asolgiel &e o Feisa| X
90,000,0002 90,000
HsAHEL LS| IKIZ AL (ZH]) 10,000 10,000 0
[ 3,000
T 7,000
201 Eer23 | 8,000 8,000 0
= 2,400
= 5,600
01 At2teltl 8,000 8,000 0
O =AY 2 88 & %&al &t
8,000,000& 8,000
S 2,400
o 5,600
202 04| 2,000 2,000 0
& 600
Ea 1,400
01 SLHoIH 2,000 2,000 0
O AR R 28 & 9&s It ol
2,000,000& 2,000
= 600
o 1,400
HAsHE SIXNFAME (=2HI) 290,000 390,000 100,000
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SA: S0
3 sHEE=Es
&Rl SHESXIXE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 145,000
=S 29,000
s 116,000
101 21AH| 28,800 35,200 6,400
= 14,400
= 2,880
Ea 11,520
04 JIZtN2 2N S 2+ 28,800 36,200 26,400
O TATXAME FHeagole 2o
28,800,000& 28,800
= 14,400
= 2,880
Ea 11,520
201 fer=2 3| 51,500 71,100 19,600
= 25,750
= 5,180
[Ea 20,600
01 AtR2telHl 44,500 66,100 21,600
O TATXAME LeragH L S2E T
= 8,000,000 8,000
= 4,000
= 800
o 3,200
O A2 2 82 & 9&Es Fot
22,000,000& 22,000
= 11,000
= 2,200
Ea 8,800
O sulEIL &8 duz Xd
13,500,000& 13,500
= 6.750
= 1,350
Ea 5,400
O ¥&€ NSdENS MBI
1,000,000 *14] 1,000
= 500
= 100
o 400
02 s3=gHl 7,000 5,000 2,000
O AsHERIAIE FX2
7,000,000 7,000
= 3,500
=S 700
s 2,800
202 04| 2,000 1,000 1,000
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RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 1,000
=S 200
s 800
01 2o 2,000 1,000 1,000
O Al 231 82 S srars] 2101)
2,000,000 2,000
= 1,000
= 200
o 800
301 22N = 68,700 90,500 A21,800
= 34,350
= 6.870
i 27,480
11 SEAAHIXIES 25,500 32,500 A7,000
O ZAI2 2 82 & 9 S &AL Fot
K& 2,500,000& 2,500
= 1,250
= 250
o 1,000
O ZAlg 22|84l B8 22
23,000,000 23,000
= 11,500
S 2,300
o 9,200
14 JIEt2 8= 43,200 58,000 214,800
O AsHE &8s 25,200,000 25,200
= 12,600
S 2,520
o 10,080
O sE0M &0t X (A4, IMEIE,
HIESE) 18,000,000 18,000
= 9,000
=S 1,800
s 7,200
307 212t01& 89,000 92,000 23,000
= 44,500
=S 8,900
s 35,600
02 QItESAIEE X 73,000 82,000 29,000
O di=sHiy Ast 10,000,000& 10,000
= 5,000
= 1,000
Ea 4,000
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2A:

=
M SolEHAEA
CHel: S0|ES X NRA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O H=s7E SSH 84 NA(AsAHEL O
SEH3|) 20,000,000& 20,000
= 10,000
[ 2,000
T 8,000
O H=s7E SSH g4 NA(0ts=9 =0t
e 85tus) 10,000,000 10,000
= 5,000
< 1,000
s 4,000
O Aselgesl 243 A
12,000,000 12,000
= 6,000
S 1,200
= 4,800
O sZE0M &0t2D] X (YAIFAHH], =22
J8=ghl 21,000,000 21,000
= 10,500
= 2,100
= 8,400
05 212t =S 16,000 10,000 6,000
O AsHE 2RS(20HE XFUSK)
16,000,000& 16,000
= 8,000
= 1,600
[Ea 6,400
402 2I2F X201 & 50,000 40,000 10,000
= 25,000
= 5,000
[Ea 20,000
02 QI X2 AL E R (01X THE) 50,000 40,000 10,000
O Asele & &4 50,000,000 50,000
= 25,000
= 5,000
= 20,000
cletdsg =4 37,602,603 38,370,114 AT67,511
= 1,049,816
) 23,301,319
< 2,948,084
s 10,303,384
sedsgsd X2l 7,604,493 8,223,410 618,917
= 815,876
Jl 1,061,319
= 845,859




FA Set
N AsA=Y S4
ol ABA=SM X2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 4,881,439
sEgeEs) I 5,500 5,500
201 fet=23y| 5,500 5,500
01 AtR2tc|HI 5,500 5,500
O sgEges)l A 5,500,000& 5,500
ctFdsHEEAY 52,894 48,365 4,529
101 e124d| 52,8%4 48,365 4,529
M ORNZZ2NSE S 52,8%4 48,365 4,529
O Mg =9 HHT20| olAY)
50,793,600 50,794
O 3=y 284 2,100,000 2,100
SN HXI (=) 895,195 967,501 NT2,306
= 548,233
= 173,481
= 173,481
307 el2to| & 895,19% 967,501 AT2,306
= 548,233
< 173,481
s 173,481
02 2IZHB A E & 895,195 967,501 NT2,306
O EHEH X 706,207,000 706,207
= 453,739
S 126,234
[Ea 126,234
O EYNEN ss42d N3
188,988,000& 188,988
= 94,494
[ 47,247
T 47,247
EASHAXAFTRNE(0I2) 1,061,319 1,020,078 41,241
Jl 1,061,319
301 22N 1,061,319 1,020,078 41,241
Jl 1,061,319
14 DBt 2 a3 1,061,319 1,020,078 41,241
O etBsga=q 1,061,319,000& 1,061,319
Jl 1,061,319
SIXNSHEXSH (=) 222,000 379,630 157,630
= 72,000
Ea 150,000
301 EtE NS 222,000 379,630 157,630
=S 72,000
s 150,000
14 0Bt 2as 222,000 379,630 157,630
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M

BB SMENEXA(ZHI) 470,000 834,770 A364,770
170,000
300,000

M

301 2 E = 470,000 834,770 A364,770
170,000
300,000

M H

14 JIEt2 a3 470,000 834,770 A364,770

470,000,000 470,000
170,000
300,000

M

ETsHE RS BAHZH]) 22,000 24,000 22,000
5,500
16,500

Mo

201 Zet23 ] 22,000 24,000 A2,000
5,500
16,500

M

22,000 24,000 22,000

22,000,000 22,000
5,500
16,500

M H

=t 280l XZAZ (<) 314,400 346,590 A32,190
36,960
277,440

M

307 212+01& 314,400 336,990 N22,590
36,960
277,440

M

S
o
y
0y

>
>
HI

314,400 336,990 N22,590

O
10
[=s
o 0
H0
oy IR
ob M
il
>
o

=)

314,400,000 314,400
36,960
277,440

M H
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172,075
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180,679

Mo W
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O RS8N X 430, 187,500 430,188
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o 180,679
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o 50,400
02 QI HAANEE X 162,000 108,000 54,000
O usz&8 X2 162,000,000 162,000
= 90,000
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3 Fs |54
SH9l: DEXM MAD|BIEX crol:msl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,550,000 766,218 783,782
= 765,000
= 785,000
06 2= 1,550,000 766,218 783,782
O &= Mai=2
1,550,000,000& 1,550,000
=S 765,000
s 785,000
G2 Ao 2 Bl) 299,662 534,000 A234,338
< 89,898
= 209,764
402 QI2F X201 & 299,662 534,000 N234,338
= 89,898
= 209,764
02 QIZtXt= ALY ) 299,662 534,000 A234,338
O st 4o ME (XA S)
19,333,000 31CH*50% 299,662
= 89,898
o 209,764
AXEM XIZAL (At 22I8])(01S) 77,000 77,000 0
Jl 77,000
101 @124H| 37,540 30,540 7,000
) 37,540
M ORINZZ2NSE S 37,540 30,540 7,000
O Zoxg3 Mags £20| oIy
37,540,000& 37,540
Jl 37,540
201 el 37,460 37,460 0
Il 37,460
01 At 2|l 37,460 37,460 0
O 2ox23 so s=aely
23 24 37,460,000 37,460
Jl 37,460
202 04| 2,000 9,000 AT7,000
Il 2,000
01 =LHAHI 2,000 9,000 AT7,000
O ZomED o
2,000,000 2,000
Jl 2,000
AXNZHM KZ A (AL 50,935 48,510 2,425
01 e1AH| 50,935 48,510 2,425
04 JIZtHIZ2 &t 50,935 48,510 2,425
O HEM &t 2124
50,935,000 50,935
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FA Set
N sA= S4
el DS da|gixy EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
14 IIEt2 8= 1,000,000 1,000,000 0
O H gty izl 1,000,000,000& 1,000,000
HgEn XA (=) 41,239 34,074 7,165
= 10,310
o 30,929
307 @120l & 41,239 34,074 7,165
== 10,310
s 30,929
02 LB AANHEE 41,239 34,074 7,165
O Hg=1 NEA 41,239,000 41,239
[ 10,310
T 30,929
S0l OtMsE ZEAL X2 AL (=24]) 11,880 3,960 7,920
= 5,940
[ 1,782
T 4,158
402 QI>F X201 & 11,880 3,960 7,920
= 5,940
s 1,782
s 4,158
02 I SASEZ(0IETHR) 11,880 3,960 7,920
O ol OFSE EZ2AIE XA
11,880,000 11,880
= 5,940
=S 1,782
s 4,158
SAREM XA (013) 19,607,000 19,607,000 0
Jl 19,607,000
301 EetE2 NS 19,607,000 19,607,000 0
Il 19,607,000
14 IIEt2 83 19,607,000 19,607,000 0
O Jl2g S9H=AY
19,607,000,000& 19,607,000
) 19,607,000
MY XA (s - 288 (=8]) 90,000 90,000 0
= 50,000
== 12,000
[Ea 28,000
307 212+01& 90,000 90,000 0
= 50,000
=S 12,000
s 28,000
02 QB AANEER 90,000 90,000 0
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S s
I A=Y |4
el DS dabgtxy (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 24 U MACHT| AW S4
90,000,000 90,000
2 50,000
= 12,000
2 28,000
B 2HorEOY|(ZH) 1,120,522 1,620,522 500,000
= 1,120,522
301 YEHEHS 1,120,522 1,620,522 500,000
= 1,120,522
14 JIEI2 A2 1,120,522 1,620,522 500,000
O bl 2Nz 1,120,522,000& 1,120,522
= 1,120,522
sEAE dO 2urEH| ¥ (<)) 29,600 187,960 158,360
== 7,400
2 22,200
402 RIZEXHE0| T 29,600 187,960 158,360
= 7,400
2 22,200
02 QIFXHZ A SR (OIRTH) 29,600 187,960 158,360
O S=4E 9 28| 1
3,700,0002 *20CH*40% 29,600
= 7,400
2 22,200
HASAE XA (ZHI) 24,600 24,060 540
= 3,690
2 20,910
201 Yer2H | 24,600 24,060 540
= 3,690
2 20,910
01 AtR22ld| 24,600 24,060 540
O dgsdle 28 24,600,000 24,600
= 3,690
2 20,910
= EIAS THHHXIR (R AR ) (S 152,500 191,890 39,390
= 30,500
2 122,000
301 YLErE A3 152,500 191,890 239,390
== 30,500
2 122,000
14 JIEI2 A2 152,500 191,890 39,390
O &= EtX2 MUK 2 (HMAEFH) (ZH])
152,500,000 152,500
= 30,500
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FA Set
N sA= S4
el DS da|gixy EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O = & &= M=
2,500, 000& *60ha 150,000
SHE sIIAH N2 A 300,000 300,000
402 2IZHA=01A 300,000 300,000
01 QI XHE AL E R (KM THE) 300,000 300,000
O SUE sIIH N3AAME
300,000,000 300,000
2ol SEHAE 2,570,319 1,784,573 785,746
= 66,371
7l 101,744
= 197,198
o 2,205,006
AN & SENS Z8H ML 2,560,555 1,774,926 785,629
= 66,371
Jl 99,980
[ 194,198
T 2,200,006
ASHS SHAE 100,000 100,000 0
307 elztol & 100,000 100,000
02 LB HAHE L 100,000 100,000
O ASHAS(UZI], HA 8) 54 XE
10,000, 0002 *20ha*50% 100,000
AL AxE SZH K& (=Hl) 16,720 7,200 9,520
=S 5,020
s 11,700
307 @I2to| & 16,720 7,200 9,520
== 5,020
[Ea 11,700
02 LB HANHE L 16,720 7,200 9,520
O &g 22H K&
3,800,000& #8. 8hax50% 16,720
= 5,020
= 11,700
SHE0F QIUXIZZAIE XI&(=H]) 125,557 74,188 51,369
= 57,071
= 6,849
= 61,637
402 2I2F X201 & 125,557 74,188 51,369
= 57,071
[ 6,849
T 61,637
02 QI X2 AL EE (01X THE) 125,557 74,188 51,369
O HUXIZ2ZAE X2 S
114,142, 5002 *2ha*55% 125,557
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SH: SMD
B 20 SHAY
Sl AIMRI L SESXR2 Zu KD (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 57,071
=S 6.849
s 61,637
ANERHS NS XA (013) 48,100 42,285 5,815
7l 19,240
S 2,886
o 25,974
402 2I2F X201 & 48,100 42,285 5,815
Il 19,240
= 2,886
Ea 25,974
02 QI X2 AL E R (01X THE) 48,100 42,285 5,815
O A3 tist K&
96,200,000 *1IH 2= %50f% 48,100
Il 19,240
= 2,886
[Ea 25,974
SEA2 MAMAIE FUia XA (213) 58,000 19,700 38,300
Il 23,200
= 10,440
o 24,360
402 212t X+=01 ™ 58,000 19,700 38,300
) 23,200
& 10,440
= 24,360
02 QI X2 AL EE(0IHTHE) 58,000 19,700 38,300
O SE82E HAtAIE e X2
58,000, 000:& *27H 2= %50f% 58,000
) 23,200
< 10,440
s 24,360
DEHIDIE THHHAIE RIR(D12) 143,850 103,790 40,060
Il 57,540
< 8,631
= 77,679
402 QIF X201 & 143,850 103,790 40,060
J| 57,540
== 8,631
o 77,679
02 RIINEASEZ(0IETHR) 143,850 103,790 40,060
O 1= MHHAIE K&
221,307,000& *1.3nax50% 143,850
Jl 57,540
s 8,631
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SH: SMD
B 20 SHAY
Sl AIMRI L SESXR2 Zu KD (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 77,679
DIl elZet =AY 50,000 50,000 0
307 21201 & 50,000 50,000
02 LB AANHEE 50,000 50,000
O ME, 2 £ S N
25,000, 000& *4hax50% 50,000
ZEESNA WLZAXA (=) 18,600 16,972 1,628
= 9,300
< 2,790
[Ea 6,510
307 elztol & 18,600 16,972 1,628
= 9,300
=S 2,790
s 6,510
02 QB HANEER 18,600 16,972 1,628
O £S5 S=2T4 Y4 X2
1,004, 11021790 2+ 100% 18,600
= 9,300
=S 2,790
s 6,510
GHE MaD|Et ZHEXIE 20,000 20,000
307 212+01& 20,000 20,000
02 2B HAHE L 20,000 20,000
O gz 4ot J1gr &
2,000,000 «20hax50% 20,000
o= X - K& 70,000 70,000
402 212t X201 ™ 70,000 70,000
01 QI X2 AL E R (K THE) 70,000 70,000
O b= ik &R =4 70,000,000 70,000
ANEotRA X2 200,000 140,000 60,000
402 2I2F X201 & 200,000 140,000 60,000
01 SIS ASE R (RHMITHR) 200,000 140,000 60,000
O AIEot2A JHE =+ 400,000, 000& *50% 200,000
%3.\_)55 HUHSSHE Mg PF(E/2SHE) (M 220,600 246,647 126,047
At
= 66,180
= 154,420
402 2I2FX+=01 & 220,600 246,647 N26,047
= 66,180
Ea 154,420
02 QI XHE AL E R (01X THE) 220,600 246,647 N26,047
O B4 ANSSHS M4 JIY 25
22,060,000 *20hax50% 220,600
== 66,180




SH: SMD
B 20 SHAY
Sl AIMRI L SESXR2 Zu KD (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 154,420
Ot= MBIEX =4 A& 100,000 200,000 100,000
307 21201 & 100,000 100,000 0
02 LB AANHEE 100,000 100,000 0
O Ot= &7 &€ sAM A&
10,000,000 *20hax50% 100,000
S8 NESst ASH= |54 300,000 250,000 50,000
307 elztol & 200,000 200,000 0
02 2IZHBYAIHE X 200,000 200,000 0
O SN & s & X
20,000, 000& *20ha*50% 200,000
402 2I2F X201 & 100,000 50,000 50,000
01 BIENG S A S E X (XM THR) 100,000 50,000 50,000
HADBIAIEXE & 2= S X
100,000, 0002 *27H 2= *50% 100,000
0l & Dt SOt Matd| 22 X2 1,400 0 1,400
201 er23| 1,400 1,400
01 At2t2ltl 1,400 1,400
O HUSEHR 20t 2822
1,400,000& 1,400
&g A7 SN 120,000 120,000 0
307 @20l & 120,000 120,000
02 QA HAIEE X 120,000 120,000
O 28 HAR SR(SX) X
120,000, 0002 *27H 2= *50% 120,000
LD MAAIE SUHSAME (Z/DSHE) (HEAY) 27,400 20,777 6,623
& 8,220
= 19,180
402 QI”F X201 & 27,400 2,777 6.623
= 8,220
o 19,180
02 QI X2 AL E R (0IETHE) 27,400 20,777 6,623
O EJ| datAld Silist K&
45,666,0002 * 1. 2hax50f% 27,400
=S 8,220
s 19,180
A0 o] 22 XA (&HI) 41,500 20,333 21,167
< 12,450
s 29,050
402 QI2F X201 & 41,500 20,333 21,167
= 12,450
= 29,050
02 QI A2 AL E R (0IETHR) 41,500 20,333 21,167
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SH: SMD
B 20 SHAY
Sl AIMRI L SESXR2 Zu KD (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O ANZ30 da ZZA
83,000, 000& * Thax50% 41,500
= 12,450
Ea 29,050
QLOHTHHHAI A BHXI WAl IR A (ZHI) 48,500 48,500
== 14,550
o 33,950
307 212+01& 48,500 48,500
< 14,550
T 33,950
02 LB HAHE L 48,500 48,500
O UTHHHAIL BIXI DA X2
48,500, 000& *2ha*50% 48,500
= 14,550
[Ea 33,950
Ots &4 AXD| XM (ZHI) 15,000 15,000
s 4,500
s 10,500
402 2I2F X201 & 15,000 15,000
& 4,500
Ea 10,500
02 QI X2 AL EE (01X THE) 15,000 15,000
O g24 Ot=22J| X&
3,000,000 1041 %50% 15,000
= 4,500
o 10,500
L==(ECH S) H2AIE XZAL 100,000 100,000
402 2I2FX=01& 100,000 100,000
01 RIINGSASE X (XHMITHR) 100,000 100,000
O ECich HIHBAE X2 S
100,000, 000& *2hax50% 100,000
MEHA =H2tASHHI0I2-Xt) XA (&HI) 138,328 138,328
= 34,582
= 103,746
307 elztol & 138,328 138,328
= 34,582
[Ea 103,746
02 2B YA R E £ 138,328 138,328
O MEA sYPE-sH(HI0I2-3t) X
4,803,050 »72ha*40% 138,328
s 34,582
s 103,746
Ots 2+ M S4X# 50,000 50,000
402 BIZtAH=01 A 50,000 50,000

_28_




SH: SMD
B 20 SHAY
Sl AIMRI L SESXR2 Zu KD (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 QIZEXHE2 AL 2 (REHTH ) 50,000 0 50,000
O Ot= b= JIAIS XI&
50,000, 000& *50% 25,000
O Ut MbH==2 J|AIst K&
50,000, 000& #50% 25,000
== MADIEE 1= NAAD (EHI) 57,000 0 57,000
< 17,100
= 39,900
402 QIF X201 & 57,000 0 57,000
= 17,100
s 39,900
02 QI X2 AL EE(OIETHE) 57,000 0 57,000
O B MADIEIRE K8
19,000, 0002 «6LH*50% 57,000
= 17,100
o 39,900
AASHUSSEX(NEL D) =8XI3(2HI) 450,000 450,000
402 2I2FX=201H 450,000 450,000
01 IR SASE X (XHMITHR) 450,000 450,000
O UXZEZ AlId & NI
100,000, 000& *5IH 2 +50% 250,000
O 2= K& 400,000, 000& #50% 200,000
I THEHERX =4 X2 40,000 40,000
307 gl2to| & 40,000 40,000
02 QA AAEE X 40,000 40,000
O & s+ A& 8,000,000 *10hax50% 40,000
FTAD IS KI2AEHE A 9,764 9,647 17
Jl 1,764
= 3,000
o 5,000
FTADIZ2 K& AtHI(ZHI) 8,000 8,000 0
== 3,000
o 5,000
307 212+01™ 8,000 8,000 0
[ 3,000
T 5,000
02 2B A HE L 8,000 8,000 0
O U=+ SeiieE 2¢ X2
10,000,000 *17H 2 #80% 8,000
= 3,000
o 5,000
FTAAFZHIE =8 & 242(HI(013) 1,764 1,647 17
Il 1,764
201 er23| 1,764 1,647 17




-

SH: SMD
B 20 SEAY
CHol: FTADIZ RIS ALY (crol: =
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,764
01 Al 22| 1,764 1,647 117
O FTA AlRiEl 28 2 22
1,764,000& 1,764
Jl 1,764
sS4t BHf J1eHES 602,775 502,785 99,990
< 49,693
= 553,082
sS&2 AN 243t 602,775 502,785 99,990
= 49,693
= 553,082
sS4atE A =& 182,490 182,490 0
201 Ler=23| 10,490 10,490 0
01 At2teltl 7,490 7,490
O HAdEH 248l 7,490,000& 7,490
03 A2 Y| 3,000 3,000 0
O 4= NYFH 29
3,000,000& %12 3,000
202 04| 10,000 10,000
01 SLHoIH 10,000 10,000
O HHHEH F204H] 10,000,000& 10,000
307 elztol & 162,000 162,000
02 2IZHBYAIHE & 162,000 162,000
O stt2 =%, "S2M A&
162,000,000 162,000
MW BMDMET EHbiH] XIRAL (EHI) 164,250 127,500 36,750
== 24,637
[Ea 139,613
307 212+01& 164,250 127,500 36,750
= 24,637
s 139,613
02 LB HAHE L 164,250 127,500 36,750
O dgi dnAsts EiHiH| XA
164,250,000 164,250
= 24,637
Ea 139,613
2 AAE HE8 WA XFAE(ZHI) 9,49% 9,49 0
== 1,424
o 8,071
201 =3 9,49 9,495 0
< 1,424
= 8,071
01 At22t2lt] 9,4% 9,4% 0
— 30 —




SN SaH
Hu: A2 D O|HEE
Chel: sS4E Mo 2435t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O 22 AAR ME8 HE NRAL ()
9,495,000& 9,49%
& 1,424
2 8,071
E9 AR MEN FF XA 3,000 3,000
201 B2 AY| 3,000 3,000
01 AR2teld| 3,000 3,000
O HEH B2 AAR 428 FRXA(2H|
) 3,000,000%! 3,000
AHHXRNEH 28 2435t 163,500 163,500 0
301 LPENZ 15,000 15,000
11 AL XI 22 15,000 15,000
O HHEE LA
15,000,000& 15,000
307 QIZHOI 148,500 148,500
2 QIZHEMANEEX 148,500 148,500
O EJIHNME 22IX 02|
25,000,000 25,000
O EJANHE 22|
20,000,002 20,000
O EHHXILME ebjy] e
100,000,000 100,000
O MUAI T L oA X2
3,500,000& 3,500
=2ctol Bl & XI2(=Hl) 25,600 16,800 8,800
T 8,000
= 17,600
307 212+01 A 25,600 16,800 8,800
& 8,000
2 17,600
02 QIZHAAAIEE R 25,600 16,800 8,800
O Setel B & X2 25,600,000 25,600
T 8,000
[ 17,600
TR SE4MS BE XA (TH) 45,440 0 45,440
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[Ea 92,610
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02 QIZtEHAEE X 16,000 40,000 24,000
O dd stte =& 2/l X2 (&Hl)
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T 11,200
GAP OHE A EAANY(2HI) 6,000 19,000 /13,000
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307 elztol & 15,000 15,000
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O SE0BIgx 276 12
80,000,000 80,000
O SEOAHE TR ZEM X
50,000,000& 50,000
SAASEQZE HMSCIXC! MAXS AL (&8I) 20,000 20,000 0
= 5,400
= 14,600
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& 5,400
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O EXANSEUSHS CIAR! MEXI& A
20,000,000 20,000
& 5,400
i 14,600
TXABEQISHE AIIEEHA] X (EH]) 2,700 6,300 A3,600
= 1,350
i 1,350
301 L2 Z 2,700 6,300 A3,600
= 1,350
= 1,350
14 JIEt2 43 2,700 6,300 A3,600
O EXANSEUSHE ROISE A XA
2,700,000& 2,700
& 1,350
i 1,350
=0t =S Us=N =5 514,969 555,860 A40,891
& 128,742
= 386,227
stugal XA 514,969 555,860 A40,891
& 128,742
i 386,227
g MEdsds AEX () 450,425 475,591 N25,166
= 112,606
= 337,819
308 AXISHMSO0IA 450,425 475,591 A25,166
= 112,606
= 337,819
RN N ECES 450,425 475,591 £25,166
O 334 WBASHS AR
450,425,000 450,425
& 112,606
= 337,819
stugal ATHE otES HAHEHI) 13,500 13,500 0
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FA SeH
T BHSSAY| (B4
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =t 4,000,000 4,000
202 04l 5,500 5,500
01 =LHOHI 5,500 5,500
L= oy 5,500,000& 5,500
Jl=23tl/egdsy 20,010 22,110 /2,100
201 2Bt 9,010 11,110 2,100
01 AtR2t2 9,010 11,110 22,100
O dit=8 3,510,000& 3,510
O sgtl 5,500,000& 5,500
202 04l 11,000 11,000
01 =LHAHI 11,000 11,000
O ge=xd 11,000,000 11,000
JI23HI/US 13,500 14,900 1,400
201 get=ay 7,500 8,900 1,400
01 At 2 7,500 8,900 A1,400
O ggt=EH| 3,000,000& 3,000
O =gl 4,500,000 4,500
202 04l 6,000 6,000
01 SLHoIH 6,000 6,000
= 6,000,000& 6,000
Jl=2gdtl/sA8R 19,080 19,080
201 fet=ay 15,080 15,080
01 At 2] 15,080 15,080
O get=2g| 12,000,000 12,000
(OR=11:] 3,080,000& 3,080
202 04| 4,000 4,000
01 =LHO LI 4,000 4,000
O sAES
4,000,000 4,000
WRes(sat) 2,000,000 0 2,000,000
LIS HHXIE 2,000,000 0 2,000,000
WRAHHXE(s4tm) 2,000,000 0 2,000,000
RISdES 2,000,000 0 2,000,000
UIPIETSE—S 2,000,000 0 2,000,000
O JIx==sd2zIMIIREEDIZ MES
2,000,000,000& 2,000,000
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